169y Z =69 N =100 adopted link |[ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020
BE = 1371.345 ( 0.001) MeV

Energy T J+ J- J-other T1/2

S-alpha= -1.198 ( 0.001)--- - - - T

169TM 1 | 0.000 1/2+ | I 1 STABLE
169TM 2 | 0.008 3/2+ | | 2 4.09NS 5
169TM 3 | 0.118 5/2+ | | 3 62 PS 3
169TM 4 | 0.139 7/2+ | | 4 302 PS 2
169TM 5 | 0.316 7/2+ | | 5 659.9 NS 23
169TM 6 | 0.332 9/2+ | | 6 18.8PS 5
169TM 7 | | | 0.342 (1/2-) 7

169TM 8 | | 0.345 5/2-| 8

169TM 9 | 0.368 11/2+] | 9 41.6 PS 21
169TM 10 | | 0.379 7/2-| 10 52.2 NS 8
169TM 11 | | | 0.430 (9/2)- 11

169TM 12 | | | 0.434 (9/2)+ 12

169TM 13 | | 0.473 9/2-| 13 0.14 NS 7
169TM 14 | | | 0.475 (3/2)- 14

169TM 15 | 0.571 3/2+ | | 15 10 PS 7
169TM 16 | | | 0.575 (11/2+) 16

169TM 17 | | 0.588 11/2- 17

169TM 18 | | | 0.603 (13/2-) 18

169TM 19 | 0.633 5/2+ | | 19 0.27 PS
169TM 20 | 0.637 13/2+| | 20 5.4 PS 4
169TM 21 | | | 0.647 (7/2-) 21

169TM 22 | 0.691 15/2+| | 22 8.1 PS 4
169TM 23 | | | 0.719 (7/2+) 23

169TM 24 | | 0.725 13/2- 24

169TM 25 | | | 0.741 (13/2+) 25

169TM 26 | | | 0.782 (5/2)+ 26

169TM 27 | | | 0.832 (9/2+) 27

169TM 28 | | | 0.866 (17/2-) 28

169TM 29 | | | 0.878 (7/2+) 29

169TM 30 | | 0.884 15/2- 30

169TM 31 | | | 0.885 (11/2-) 31

169TM 32 | | | 0.900 32

169TM 33 | | | 0.929 (15/2+) 33

169TM 34 | | | 0.938 34

169TM 35 | | | 0.964 (11/2+) 35

169TM 36 | 1.028 17/2+| | 36 1.91 PS 18
169TM 37 | | | 1.040 37


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=169Tm
https://www.nndc.bnl.gov/ensdf/
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169TM 129 | I | 3.742 (1/2,3/2) 129

169TM 130 | | | 3.766 (1/2,3/2) 130

169TM 131 | | |  3.796 (1/2,3/2) 131

169TM 132 | | |  3.807 (1/2,3/2) 132

169TM 133 | I | 3.862 (1/2,3/2) 133

169TM 134 | | | 3.875 (1/2,3/2) 134

169TM 135 | | | 3.917 (1/2,3/2) 135

169TM 136 | | |  3.950 (1/2,3/2) 136

169TM 137 | | | 4.104 (1/2,3/2) 137

169TM 138 | | | 4.190 (1/2,3/2) 138

169TM 139 | | |  4.280 (1/2,3/2) 139

169TM 140 | | | 4.765 (1/2,3/2) 140

169TM 141 | I | 4.790 (1/2,3/2) 141

169TM 142 | | | 4.853 (1/2,3/2) 142

169TM 143 | | | 4.865 (1/2,3/2) 143

169TM 144 | | |  4.954 (1/2,3/2) 144

169TM 145 | | | 5.212 (1/2,3/2)+ 145

169TM 146 | | |  5.507 (1/2,3/2) 146

169TM 147 | I | 5.530 (1/2,3/2)+ 147

S-p = 5.574 ( 0.001) ——m oo
169TM 148 | | | 5.593 (1/2,3/2) 148

169TM 149 | I | 5.598 (1/2,3/2) 149

S-p = 5.574 ( 0.001)——————————= -—- - e
S-n = 8.034 ( 0.002) ————mmm
S-2p = 13.573 ( 0.005)--- - -—- -—- e e e
S-2n = 14.874 ( 0.001)——————————————m—m—— -—- e
S-alpha= =1.198 ( 0.001)======mmmm e e e e e e e e
S+p = -6.778 ( 0.001)

S+n = -6.592 ( 0.001)

S+2p = -11.132 ( 0.002)

S+2n = -14.078 ( 0.001)

S+alpha = 1.969 ( 0.002)

gap p = -1.204 ( 0.001)

gap n = 1.442 ( 0.002)

gap 2p = 2.441 ( 0.006)

gap 2n = 0.796 ( 0.002)

gap alpha = 0.770 ( 0.002)



